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PART - A :

Some equations are solved on the basis of a
certain system. Find the correet answer for
the unsolved equation on that basis.
566=35 8+¢4=28 6H+8=7

(A) 46 (B) 34 (C) 23 LBy 38

. Select the comrect combination of mathe-

matical signs to replace » signs and 1w
balance the following equation

12e3ed =« GafaB
{'A'} Ty % W ':B] e +| T,
lIl:l +'|- *y [DJ T T PR

Directions : In question nos. 3 and 4, select the
missing number from the given responses,

ki

KX

719 |8
2|43
51716
161327
(A 17 ® 23 (C) 47 (D) 73

@i ®s ©6 M

. A person walks towards his, hnuge at

00 am and observes his .@h}h}"iu his
right. In which direction hesis, walking ?
(A) North (BY. Sduth’

(C) East "ﬁgi!

. A boat moves from, a jiéi:i:f towards East,

After sailing for O0naytical miles, she tumns

towards nghtmﬂ"mven another 12 nautical

miles. If she wants to go back to the jeity,

what is the “shortest distance now from her
. i

present position ?

(A) 2Teaautical miles (B) 20 nautical miles

(C) 18 nautical mules (D)_AS5 nautical miles

10.

GENERAL INTELLIGENCE & REASONING
7.

Find out the number of triangles in the given
figure.

WA) 13 (B) 15

€ 16 (D) 17

. Four positions of a dice are_@iven below.

Identify the number at the b@;lﬁm when top

:;u:stiun figures _

W1 @B ©4 @S5
ldnnh%' ;ﬁfﬂinm that best represents the

relatio among classes given below
Food,s Curd, Spoons

L (&) (B)
CIBNO

(© @ [ @ 3

In the following figure, the "%h"s who are
cricketer and sober are indicaied by which
number 7

Crichetes

SIPACE FOR ROU

C-DI 2014

Boys
il
A6 @5 (©4 B2
GH WORK



AW -F : "W afgmer vE ashafe ~
1. @ gt U gy woret & aram W e 7. % T arpfo # fraen & wen s Fitm |
i § | FE AR W aTeie Wi @ aw
It wm ifem |
S5e6=135, 8ad=28 Ge8=7
(A) 46 (B) 34 (C) 23 (D) 38
2. frfafen wvitem = waf w0 @ o e
;E;%ﬁ%mmﬁﬂ Ay D Blels (€ 16 (D 17
LN 8. wh i wr Faf A zubh ¥ |
(A)) +, %, = (B ix: e % T EEE GL6E Al Al F FEAFI FA A 3w
() = +, A, - {Dl}x - X, + -E‘h"-;r '
ey um aen 34 40 Boo fagegi A @ Tt
s i hifo | o
3. i 3
EAEIL @
2143 A1 BN © 4 (D)5
M f 9. TE SR T A g i & Al e
16 | 32 | 1 257 208 Pty e @ |
(A) 17 (B) 23 (C) 47 (D) 73 Sty 5, e
4. >
S& LK A " @
@Q é 2 -' (©) (D)
A1 B8 (©6 (DN @ @ 0
gk bk S by A
| TOTE 304 TETReSs | 10. Fr=afafas swfa #, Tk fsde faerst memi =
% fo fan it siw @ A o en rer Ry T B
(A) (B)-7tem '
(C) F= (D) _ itz fmmdt
6. UF AT wE (WA WA Al AR we ! 2 e
O |G Hidt AN THE, 70 A AR g 6
|2 a9t 919 AR T T 2 | afz of arfm e ~ .
(321) | FIMR, @t w= wEht aeaw el | AN e L
T GO wRt g
(A) 217 M| (B) 20 #EE A
(C) 18FHa Al@ (D) 15 &Rt Wi . T R (o T I () 1
e Y s W % fam e

C - DI 2014

[P.T.O.



Directions : In question nos. 11 and 12 some
statements are given followed by three/two
conclusions/assumptions respectively. You have to
consider the statements to be true even if they
seem 1o be al variance from commonly known
facts. You have tw decide which of the given
conclusions/assumptions if any, follow from the
given sialements.

11. Statemnent Pictures can tell a story, All

story hooks have pictures.
Some story  books  have
words,
Conclusions @ 1. Pictures can tell a story
better than wonds can,
II. The storics in story books
are very simple.
II. Some story books have
both words and pictures.
(A) Only conclusion I follows
(B) Only conclusion Il follows
ey DnR: conclusion III follows
(1)) Both conclusions | and 1 follow
12. Statement [t is desirable 1o put the child
in school at the age of 5 or sp,
Assumptions : 1. At that age the child
reaches appropriate level
of development and is
ready to leamn.

[I. The schools do not admit
children after 6 years of
age.

(A) Only assumption 1 is implicit

(B) Only assumption 11 is implicit

(€7} Neither assumption I nor I is impligit

(D) Both assumption T and 11 @ implicit
13, Which answer figure will, coniplese the

pattern in the quecstion figure %\

Question figure
%g N

Answer figures

SV U B R VAT B
(A) ABY (C) (D)

14,

15.

16,

From the ,g.{'lﬂ:ll'l ANSWET ﬁELII'EE. select the
onc in which the question figure is hidden/
embedded. '

Question figure

=

Answer [igures
R y
2 : ] ' NG
(A) iy (€)' (D)

A picce of paper is folded and cut as shown

below in the question) figures, From the

given answer figures, “indicate how it will
wl - -».ii I..-

N~ 1T
e NLH i et
N
Answer figures
Fis :T"E' "-.-"E e
e o QO
(A) (B) (C) (D}

It' & purror is placed on the line MN, then
which of the .answer figures is the nght
image of the given figure?

Question figure

M
e
N
Answer fipures
HoaoRPPA| [Hovousua| [HoaoRaaal [Amamowon
(A) ®  AC)
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17. A word is represented by only one set of

numbers as given in any one of the alter-
natives. The sets of numbers given in the
alternatives are represented by two classes of
alphabets as in two matnces given below,
The columns and rows of Mainx [ are
numbered from 0 to 4 and that of Mainx 11
are numbered from 5 to 9. A leter from
these martrices can be represented first by its
row and next by its column, e.g., ‘A’ can be
represented by 40, 01, 13, 32 cte., and *N'
can be represented by 56, 68, 89 etc
Similarly, you have to identifly the sel for the
word given below :

SIX-KIDS,

Matnx | Matnix II

ali1jz2l3]+ i5lal7lslo
AlAlFIElR|U 2ID|IIN]S|X
(3{FIR|AJU|P gixisli|{DlN
2|P(UIFIK[A TIN[Xis|1|D
THE[PIUIALF slsipixIn|I
nIFll..I"_'_F_i Al INJD XS

(A) 86, 87, 99 — 40, 41, 86, 64
ﬁ"'ﬁﬂ. 96, .85 — 42, 78, B8,
(C) 77, 69, 76 — 22, 95, 28, 3l

(D) 65, 5, 67 — 05, 25, 9l A0,

« A student 15 cought chealng™in her test,
What would you do in this.situation 7

(A) Wam her and. Jei“her off
(B) Wam her and give her counselling
(C) “Telinlier parents

(D) Put up her name on the board

19. An address has been given below, which

has been reproduced against A, B, C and D
altcmatives, Three of these have some mistake
or the other. Identify the onc without any
mistake.

FG EUROFRED LIMITED

Centennial Park,

Centenmial Avenue,

Elstree, Hertlonmlshme

United Kingdom

WD6 315G

(A) FG FUROFRED LIMITED
Cenetennial Park,
Elstee, Hertfordshre,
Umted Kingdom
WD6 3SG

(B) FG EUROFRED LIMITED
Cenetennial Park
Centennial Awenue,
Elstree, Hertforbshire
1 Iilﬂg]iaﬂhnwﬁtmu
WDG\ISG

* (Cy EG/EUROFRED LIMITED

~Céntennial Park,
Qﬁﬂmn.mal Avenue,
. Elstree, Hertfordshire
¢ United Kingdom
WD 385G

Centeninal Park,
Centeninal Avenue,
Elstee, Hertfordshire
United Kingdom
WD6 356

o2, Yy ‘l (D) FG EUROFRED LIMITED

20. Given below are numbers in the first line and

symbols in the second line, Numbers and
symbols are code for each other. Choose the
correct code for given symbols

1 AN b T 8 9
TR Sl N A B B
Which number can be decoded from the

following :

o B TEs e s
{-R'}"EEEE? B) 568 73
(C)y 57861 (D) 58367

SPACE FOR ROUGH WORK
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17. TOF 3= FAE U AGAT-6HE RO o9 A g,

A T foweal 8 @ foedl uss o fean o 2
Pl 3 fiw o Hom-wE aeki & 91 791 2
ftmd, MRt
e 15 o A ofis & T=n 0T 4
#Am R AR Ammud sao |\ wfm A
W AW T TEe Te uitn ot aw | v e
T Tt 1 waT | SEme & M A W
40, 01, 13, 32 a2 gro guim =0 wsa Ram |
‘N'HI 56, 68, 89 iz Fr F9iET o HEAT R |

19. 9 % v fem o @ @ feew AL DL C

ST D 3 Frear T | T H T R R A
4fe & | fomn ol 2fe aren wen e fifag

FG EUROUFRED LIMITED

Centennial Park,

Centennial Avenue,

Elstree, Hertfordshire

United Kingdom

W 358G

(A) FG EUROFRED LIMITED
Cenetennial Park,
Elstee, Hertfordshre,
United Kingdom

ot 7 & e A i v= § o v o WD6 38G
Y TEETAT (B) FG EURDFI?.EDLIMITED
i 2 Cenctenmial Pagk .~
3 Centenmial Avenue,”
SRLEAPS, Elstree, E rbshire
A 1 A 11 United dom
WD6(35G
LELRI e 4 [ B RS (C) FEEDRDFRED LIMITED
djalElk|r|U OB EIERE | Centennial Park,
AFiK|a|U|P AlX|S|1]|DIN Centennial Avenue,
1EMNEED 1vIx|s]1]D Flstree, Hertfordshire
1K[pJulalE 6ls[p|xIn|! United Kingdom
ojulalr|r|k] HIEIEE WD6 358G
(D) FG EUROFRED LIMITED
(A) 86, 87, 99 — 40, 41, 86, 64 Centeninal Park,
Centeninal Avenue,
(B) 98, 96, 85 — 42, 78, 88, 7T Elstee, Hertfordshire
_ United Kingdom
() 77, 69, 76 — 22, 95, 28, @1 WD6 358G
(D) 65, 55, 67 — 05, 25, 9040 20. 7= U wftR ® ot @an gEd W @ faw R
mE | sk e g # | Rom
18, T framdt awh whem e () T farg & fam wet oz i
ﬁ;'i:ﬁ[ 7
o | 3w R e ek I I, B s e, g ogsy
(A) AT IH Sl R A et o R NG N 1
X : Ean T w7
(R) T 3@ e # sfte =@ w5 g s Dﬁ'ﬁﬁ: L
# x =3
(C) &rh g9+ man-fian &1 San (A) 58637 B) 56873
(D) 3T THEHT TR FH-T7 T (C) 57864 (D) 58367
% w1 % o e
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Directions : In question nos. 21 to 27, select the Directions : In question nos. 30 1o 34, find the
rﬂlawdlwurda’]ctterfnumbﬁfﬁgurc from the given odd word/letters/number  pair/figure  from  the
alternatives, given alternatives,
Z1. Saint : Meditation :: Scientist = ? : e
Research (B) Knowledge I {ﬁt‘] Tenuis 481 Cricket
(C) Spiritual (D) Rational (C)  Volleyhall (D) Football
11. King : Palace :: Eskimo - ? 31, (A) artificial (B) insincere
(A} Caravan (B) Asylum (C) affected By maive
(C) Monastery (I3 Igloo
23. AFKP : DINS =: WBGL : 7 P2 Slb% Ehyas
(A) ORUX (B) OSWA ey 153 (D) 174
(C) OTYD (D) OQSU 33. (A) 7-98 (B) 9:462
24. SINGER : QGLECP :: MONSTER : 9 (C) 12-288 39)_53.1'7'.; 572
(A) . KINSCP (B) KLMSCP \
(€) KMLRCP (D) KLMTDO 34. e
25. 18.: 5 =12 : 9 , A INAL ,
A 4 B 10 (€3 (D6 — N j
26. 12 : 20 - 2 = L E
(A) 15:37 (B) :16: 064 (A) A NiB) © o
(C) :27:48 LDy 30: 42 35. Whichy one "of the given responses would
27. Question figurcs be & fganingful order of the following ?
K Ofange 2. Indigo 3. Red 4. Dlue
- S, Green 6. Yellow 7. Violet
e 9 e
(f:)- <& - £5) 7,2, 4,5, 6,1, 3
i (B) 7.2, 4, 6,5 1, 3
l'.'lﬂﬁ“":l' ﬁgﬂl’ﬁ.’i {IT} -?-1 1. ﬁ* 4. 5* In 3
(0).7. 2.6 4 1573
@}I: [{‘:}]: 36. Amange the following words as per order in
- 1k | the dictionary.
_IK) (B) (C). N D) 2 1. Forecast 2. Forget 3. Foreign »°
28, In the following qmnunsmnmlﬂ:r of letters 4. Forsook 5. Force 5
skipped in between adjdcent Tetters in the 2(A). 3, 5. 1,2, 4 0 5 1.3 .7 4
serics increased by . one~"Which of the 5.1 % 4. 2 D 1 4
fillowing sécibe uh@?gtﬁenﬂe? (C) 5, 1, 3, 4, () 9, 1, 2, 3,
(A) KORYBGJ ef.\ 3 (B) LMEYTPK 37. Which one set of letters when sequentially
EMPIYEES) (D) KPTYELM placed at the gaps in the given letter serjes
29. In the following letter series how many Ms shall-complete it?
are followed by N, but not preceded by N 7 1o SRR ST R o o
NMWVMNMYWNMNMMNWVMN (A) yyrxs B) yysxr
(A) 1 B).-2 (C) 3 (P4 i HET yyrsx (D) yyxrs

SPACE FOR ROUGH WORK
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fodw - v e 217 27 9% A £ w2 frwedi B A | Frlw e w303 34 T i B feedd 8 @
AT 1 /A /R / S w8 g | foram s/ atem /e g /gt w0 gf |
21. 91 : wAA c dmilhe - 7
(A) HFHYE (B) ¥H 30. (A) 2w A (B) ﬁ_ﬁ
(©) (D) T (C) =teraie (D) Feam
2. T - WEA o UIEEAL ;7 31. (A) Fm (Fwa1) (B) wfem (wravdl)
(€) w5 (fem) (D) w7 32 (1) 63 T
23, AFKP : DINS :: WBGL : ? QST
(A) ORUX (B) OSWA (S SRS
(C) OTYD (D) OQ5U 33, (A) 7:98 (B) 97162
24, SINGER : QGLECP :: MONSTER : ? (C) 12:288 (D) AT 572
(A) KLNSCP (B) KLMSCP \
(C) KMLRCP (D) KLMTDO 3. ——
25. 187:5 =12+ 7 e X
(A) 4 (B) 10 {C) 3 (D) 6 = [T .
26, 122, 2009 7
(A) 15:37 (B) :16:64 (A) (D)
(C) :27:438 (D) 3:42 15, ﬁnhrq‘iﬂaﬁq_mﬁmqﬁﬁ&?w
27. 99 a@ﬁn’i w1 e e rf @ 7
MDTEM 2. SmpRt 3 W 40 Aen
ﬂi;.rﬁ" ﬁ' "ﬂHT Ti ﬁll?-ﬁ
MA) 7.2, 4,5 6.1, 3
» ®B) 7,246 51,3
s anghat (O 2 6, 50008
5 ‘ T, 26 4, 1,353
®~ @ J| 6 feffm =i A B w &
(A) ® N\ T
) () (D) l. Forecast 2. Forget J. Foreign
28. Freafafan wet H Frnew (gl & < o1 4. Forsook 5. Torce
ﬂﬂﬂﬂﬂwﬁﬂﬂﬁulﬁHM_ (A 35 L% 4 0 @05 13 24
Tam ® W faw @ ueE fen oam @ 7 (6, 550,58 4wl D)5 1,280y
(A) KORYBGJ G\ (B) LMEYIPK - J
(C) KMPTYER (D) KPTYELM 37. ;ﬁ;ﬁmmﬂmﬁﬁ:?mmﬁ
zu.ﬁﬂrﬁ‘-rf%m’aiﬁ{'iﬁmﬁﬁaﬁm@ﬁﬁﬂﬁ' S |
‘I{ETE'H{N 'ﬁﬁﬂqm‘qﬁwaﬁig X_sx_z_ Ixy _ yz
mmwwmmmw (A) yyrxs (B) yysxr
(A) 1 (B) 2 (C) 3 (D) 4 (C) ¥yyrax (D) yyxrs
T w1 & oo e
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Direcrions *

In question nos. 38 w0 41, a series is

given with one term missing. Choose the comrect

altermative from the given ones that will complete
the series.

38. FAG, GAF, HAIl, 1AH,

(AT JAK (B) HAK
(C) -Lﬁh. b.l*l () HAL
39, 31* ”T!j:ut};.'g 63, ?
(A) 100 (B) 87
i 08
40.-1; 0, 2,8, 15, 24
(A) 4 B 3 (C) 2 (D) 1
41. Question figures
Pl e W o B M Y B0 5
3 ot Y o S M 0 e O
Answer figures .
,%,”. ,%‘... ,-_’,:ﬁ’.“ %.“ I
e |en|=] |= | <] |51
(A) B - e ™ |
41. Govind 15 48 years old. He is twice as old
as his son Prem is now. How n]dwl"rcm 1
geven years before ? &t
(A) 16 (B 17 () 13 mtp.(m
43, Pomnting to # man, a lady said H:E is
the omly danﬂ'_lm of my ow s
the lady related to the mq&“ '-.. ]
(A) Muoiher (B) Panghter
(C) Sister ,(I:!}Mm
44, Five policemen are)standifig in a row facing

south. Shekhar i§t0, the immediate right of
Dhanush. Bala“is ~ between Basha and
Dhanush. [ﬁ!ﬂ.ﬂ i5 al the extreme nght end

of the rowWho is standing in the middle of
the row.] A

(A) ‘Bah (B) Dasha

(C) Shekhar JBT Dhanush

47. In a certain code DEHJT

45. From the given alternatives select the word

which can be formed using the letters given
in the word.,

Tam&nﬂuausm
(A) ULTRAMONTANE
(R) UITRAMODERN

A ULTRAIST
(D) ULULATE

46. 'rom the given altermatives select the word

which canmot be formed using the letters of
the given word.
LEGALIZATION

(4" ALERT .mﬂamuw
(C) GALLANT .u;@%?*‘ﬂ

ON 13 written as
ONTADEPUTIL How R_.[.'-mTlCIN written

in that code 7

(Ay ONVADERI] (B) ONDEVARITI
(C) ONVAEDIRTI (D) ONVADEIRIT

48. If Mﬁl}ﬁ"ﬁs“ is coded as 517916 and

ﬁrr s coded as 432121, how would

yOu e RMATSN? asiy
Eﬁ] 1851353 (B) 951363
051462 (D) 941562

';d‘]' Find the missing number from the given
" TUSPUNISES.

(A 12 B 10 (© 9 (D) 8
80, Il ' stands for °'+', '+ stands for "»',
*x' glands for °*-' then which one of the

following is mor correct ?
(Ay 22+T7-3x9=148
(B) 33x5-10+20=228
4C) 7+28-3x52=127
(D) 44-9+06x11=§87

SPACE FOR ROUGH WORK



fdw ¢ we w380 41 7 | UE fem #, | 45, fou po fasedt # & 98 e w9 wfo ot A fo
formt v v qm & | fau o e O @ T e A A mamﬁmaﬁg.
i S R F T R | ULTRANATIONALISM
38. FAG, GAF, HAI, IAH, (A) ULTRAMONTANE
©(A) JAK (B) HAK (R) ULTRAMODERN
(C) JAI (D) HAL (C) ULTRAIST
39. 3, 6, 9, 15, 24, 39, 63, ? (D) ULULATE
(A) 100 (B) 87 dﬁ.ﬁﬂﬁiﬁﬂﬁﬂﬁ'ﬁﬁﬁﬂ'ﬁﬁiﬁﬂﬂrﬁqw
(C) 102 (D} 99 4§52 & FER1 T VAN 0k TR SR AT S
40. =1, 0, 7 8 15 24 LEGALIZATION Vi
A)d ®3I ©2 1 (A) ALERT (B) ALPGATION
(PR (C) GALLANT (D) NATAL
Lo Rl ) 47, TFFZ A UEPanmNﬁ‘-lﬂ% ONTADEPUTI
foram e #, ot =9 5= 9 7 DERIVATION
i 0 W - S ﬁﬁmmfﬁmﬁ-f
3 g (A) ONVADERK[ N\ (B) ONDEVARITI
2T .=1. 2 ¢ -F (C) ONVAEDIRIT\, (D) ONVADEIRIT
Fat AR | . af? 'lﬂ;f;wii Mﬁ;ﬁ;ﬂﬁs rﬁl .;!I:rpm sl
TENANT %1 432121 G e
&, % Z % m-?Tﬂ RMATSN %1 foFm v foran smom ?
; . e ( 153 (B) 951363
i ] | . ) ] :;E} 451462 (D) 941562
(A) ®) © (D) SqoNB T T & @ 5w wem ww S |
42, b ) vy 487l B | A soft A prdmR S
g A e amg | 3w 7 d o e o
a1 ¥ 1
(A) 16 (B) 17 (C) 13 (D)8
43. 1o STt oY SR s A g it o,
gt = 3K e i e e | i
0 o ¥ fom waR weEtEan,?
(A) = g
(). ufn o R :I.: 12 :i:%m {C]gﬁ‘:]ﬂm
@ U=, 50. - 1 | b R - | L} A
44. T Rt fL NS An o o e as vo g af & frafafem @ Wem
% | e, e W Fereow T s @ | A, TR e R 7
amy st a1 # | 2 dfis % afRm (A) 22+7-3%9 148
qil SRR s F i d # dm € 7 (B) 33x5-10+20=228
(A) = (B) =T (C) 7428-3%x52=127
(C) 9 (D) T (D) 44-9+6x11=87
o = ¥ fau = 5%
C - DI 2014 11
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PART - B : GENERAL KNOWLEDGE AND GENERAL AWARENESS

51. The partition of Bengal 1ok place in 1905 is
associated with
(A)_Lord Curzon
B) Lord Hardinge
(C} Lord Chelmsfond
(D) None of the above

2. The name of the new religion introduced by
Akbar was
(A) Phamma (B) Din-1-1lahi

Islam (1)) Quran

53. The Govemnor General who introduced the
Doctrine of Lapse is ;

(A) Lord Canning _(BJ Lord Dalhousic
(C) Lord Hardinge (D) Lord Curzon

54. Name the National Leader wha voiced the
slogan “Swaraj is my birthright and [ will
have 11"
(A) Gokhale
(B) Tilak
(C) Bipin Chandra Pal
(D) Lala Lajpat Rai

55. The Commission which marked the Border
Line between India and Pakistan was
(A) Red India Commission
(B) Pakistan Commission

(C) India Pakistan Border Line Commis<

sion
(P Red-cliff Commission

56. Which one of the following is a-drought
resistant nice vancty of India 2, °
(A)-Bela (B) IETRI444

IR8 (D} Padma,

37. The most northerly point of Ciinada is
(A) Cape Columbia (B)*Cape Town
AC) Cape Verda (Dy=Capernaum

58. The largest solar Blant in-tndia is located at
(A) Madhapur " <(B) Narora
(C) Talcherg: (D} Chandrapur

59. EPZ standS-for
4A) Economic Promoting Zoncs
(B) Bxport Promotion Zones
(C) Economic Protecting Zones
(D) Export Oriented Zones

60. Which ome of the following is mef the
Union Territory of India 7
(A) Puducherry
(B) Lakshadeep Island
(C) Chandigarh

Groa

C-DI 2014

12

b,

61. The small intestine of man is descriptively
divided mto

(A) lleum, Jejunum, Coelom

(B) Duodenum, Teum, Jejumm

(C) Duodenum, Jeunum, Ilcum

(D) Duodemnn, Coelom, Rectum

Majority of Indian snakes are

(A) poisonous (B) nonspoisonous
(C) sluggish (D) beangifi

Une of the following has, the capacity of
rotating its eyes on all dirgctions

(A) owl {Fl‘fl hiose:
ILG}’Eh:mequ[; (D) crow
64. Soyn bedn 1§ used as a source of

(A) carbohydiates (B) fiber

(C) itamins (1Y) proteins

The watermelon is a
W =drope
NME@) pepo

62,

63.

65,

(B} bemy

(L) pome

For a sound it 15 very difficult to draw a
sharp line of demarcation between

(A) musical sound and noise

(B) tone and note

(C) micnsity and pitch

(D) frequency and quality

67. The mechamical advantage in an inclined
plane is
(A) less than | (B) greater than 1
(C) equal to 1 (D) equal 10 0
68. van-de-Graff generator 15 uscd to
(A) produce  high voltage alternating
current

(B) produce high voliage direct current
(C) measure high voltage A.C.
(D2} measure high voltage D.C.
69. An crect and virtual image for any position
of the ohject can be formed by
(A) convex lens

(C) concave lens

(B) convex mimmor
(D)) concave mirror



51.

52.

33.

34,

S5,

56.

57.

S8,

59,

AR -@ : HHATE T UF A9THFT WTAET

1905 # g3 @t Paadt gag @ 7
(A) 7fE Tl

(B) «id gifdm

(C) e Swgwrs

(D) 9 # & wr et

Hha TR @] 70 AU 3 7 APy =4
(A) 99 (B) wM-%-wrEl

(C) =M (D) TR

For Tt St 3 T s i e A
(A) =g i (B) #iE Zadst

(C) e wfdn (D) #ig #wld
T w4 seafig st & o F SR 3
TN T A & AT TET AT H A FATE
(A) TG (B) foem

(€) Ffmszam (D) s 99w T
AR A R 3 i e fafia fem
FHISA A At ?

(A) 12 ifem Fwitem

(B) Wil =ism

(C) W wiftreama it L@ dafiem

(D) t=-fFaw Fvm

Frfafam # & F-t e awa 6 gl
el aiH i e & 7

(A) e (B) IET-1444

(C) IRB (D) ==

FATST T ST I T4 FaTE0

(A) &9 Fetemr  (B) Fy 2

(C) 9 == (D), ATt

WA H A w1 Wy Sl feam # 2
(A) HTETIT (B) T

(C) e (D) S=

EPZ =1 ¥ #fymg 2 2

(A) el wfe s

(B) U wHiym wieg

(C) ThAIfTE At s

(D) TEgE #Hifuds S

. F=tafea 13 - d v = g9y e

i T R 2
(A) TR

(C) s&me

®) wod
(D) e
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61,

62.

63.

gqsq & BRI AT IFTEE w9 & fred
foriom =i 2 7

(A) o, SioAW, HieE

(B) ZanTm, daw, S

(C) FHIEH, AofH, T

(D) LW, diew, e

AlHE YR T S0 A

(A) fatet (B) #fdy

(€C) g (D) g

tr=lafaa 7 3 ot gl gt St asi
femstt # o &t s Qdl & 7

(A) I+ (B) =gt
(C) Frfie (D)
64. HHATER w1 EEn RS |9 % = 9 fen
ST 8,7
(A) FiTerzsz (B) HIER
(C), Tt (D) Widh
65. TR 1 B 7
(&) g (B) 3
(C) ot (D) sl
66. 3mET = fon, fres o e feee 2
=1 =g T 2
(A) we e=x1fs Hi 9
(B) T R W
(C) wiad Al E=aaE
(D) e i vqora
67. FF 71 = A aifw am e B g 7
(A) 1 &FH (B) | & #ites
(C) 1 % Fa (D) 0 F =Ee
68. ga-%-mtﬁ #4424 =1 7am faafan frar s
7

69.

(A) 39 FIeaH HegT=edl URT 97

(B) Fu ateda few gry 9o +17

(C) T Tiees WegTael JwT 719

(D) 34 9 for an v

aer ot et fefa & foe dven wfafies o
svarat whrfers forad o wwar 2 7

(A) Toa o (B) @ o

(C) 3Eae oha (D) sraas 7

[P.T.O.



70,

71.

72.

13.

T4.

75.

Binary form of decimal 896 1s
(A) 10110100 (B) 11TO000000
(C) 101011101 (D) 11011011

The computer bus means
(A) group of wires

(B) group of chips

AC) group of devices

(D) group of transistors

The bell metal 15 an alloy of ‘
(B) Zn and Cu

(A) Ni and Cu
(CC} Sn and Cu (D) Sn and Al
The structures CH,COCH, amdd

CH,=CH(OH)CH, are examples of

(A) Metamerism

(B) Functional group i1somcrism

(C) Position isomerism

(D) Keto-enol tantomensm

Water exists both as solid and liquid at
(A) 100°C (B) 50°C

(C) 2:5°C D) °C

Name a metal which reacts reversibly with
steam

(A) sodium (B) magnesium
(C) gold (D) iron
T6. Osmosis 1s the diffusion of
(A) water (B) solutg pafti¢les
AE) pases (D) encrgy
77. In plants, water rises upwards through
(A) cambium jﬁ}" ;t-:rmma
(C) xylem (D) phlocm
78. Which of the ﬁ!]]m*'lﬁg pattern of evolution

accounts for.all the diversity present on
carth toda?'

(A) Migreevolution (B) Megaevolution
(0 ﬁrinﬂiivmity (D) Speciation

79. Which combination of the following

[

clements constitutes a major portion of
earth crust 7

(A) Oxygen and Silicon
(B) Oxvgen and Iron
{Ej"'éilimu and Tron

(D) Aluminium and lron

DI 2014
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80.

81.

82.

83,

8.

As5.

86.

|7.

Who was the National Topper of Chartered
Accountant Examination 2013 7

{(A) Prema Jayakumar

(B) Aviral Shrimal

(C) Sai Brahma Teja Mandala

(D) Bomma Vamsidhara Reddy

Who takes charge as new Shiv Sena
President in January 2013 7
41" Uddhav Thackeray

(B) Aditya Thackeray

(") Samay Raut

(D) Ramdas Kadam

Who won the Women’s-Australian Open
utle 2013 w Janvary 7 '

Serena Williams |

(B) Vicloria Azarenkd

(C) Maria Shafipoya

(12) Caroline"Wormniacki

On whichhdate/Aircel launched free roam-
Ing scrvieestacross the country 7

(A) 22ne January 2013

{Bil 25t January 2013

(C)27th January 2013

(D) 29th January 2013

Who has won the sixth Women’s Miami
title in Sony Open final in April 2013 7

serena Wilhiams

(B) Mana Sharapova

(CC) Martina Navratilova

(D) Steffi Graff

Which country snccessfully test fired a
nuclear-capable Hatf=IV ballistic missile in

April 2013 7

(A) India (B) Pakistan

(C) China (D) Bangladesh
What was the name of Britain’s Prime

Minister who died on Sth April 2013 7
(A) Margarct Thatcher

(B) Charles Montagu

(C) Charles Howard

(D) Robert Walpole

Who has won the Worst Lyncs Award at
the 5th Annual Golden Kela Awards in
Apnl 2013 7

(A) Anvita Dutt

(B) Lata Mangeshkar

(C) Asha Bhosle

(D) Sumdhi Chauhan



70. zesea 8961 & gt s & 2
(A) 10110100 (B) 1110000000
(C) 101011101 (D) 11011011

FHgEE] H A6 &1 A4 A g 7

(A) TRt F AR (B) Tadi = wE
() Il T WE (D) gifwl =1 w8
el Hie e fipor 2 7

(A) Ni 3 Cu (B) Zn % Cu
(C) Sn 3 Cu (D) Sn #HT Al

CH,;=CH(OH)CH, #% CH,COCH, 83310
foraam sgrEon € 2

71.

11,

13.

M. R ko smi sad e ?
(A) 100°C (B) 50°C
(C) 2-5°C (D) 0°C

78, UHt T W A "ary w199 & ary fEoeda
whafea st 2 7

(A) Hifgam (B) Trfrfimm
(C) =i (D) et

76. TR fHma fmm Erm 2 ¢ N
(A) e B) foemaEm
(©) M (D) Sl

77. Wi # urt fods wemm R et e & 7
(A) Fragm D), Wtg
(C) rEm (PY ®ietn

78. fawm @ el # @ oo ufeT s
et i iagg gt fafaanat 1 R T
(A) gEifam (B) e fawm
(C) = fafa (D) =nfa F2=A

79, Freifalfon % @ G =t = waem fied 6
uea o wey fomm @ 7
(A) e ok fafasm
(B) #Hiadia4 sl =
() faferriw s #ite

(D) vefafEs ok @

C-DI 2014
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80, TTFE UEHTEEE GO 2013 3T TErg ofnd et
F9 91 7
(A) BT FIFAR
(B) wfazs =
(C) T R T A
(D) S e T

T 2013 # firmdm & s Aoas W ueR

Prae feam 2 .
(A) 9594 319 (B) wifeed Bt
(C) #=19 43d (D)-THETH F5H
sl 2013 § afeen snefead A faam
foraet e 7
(A) #te fafod
(B) R
(C) it Imvetaran
(D) Aroim it
G TR v | At dam e
g
(A) 22770, 2013 (B) 2537, 2013
(C) 279791, 2013 (D) 295F=4, 2013
. AT 2013 H AT T w5 # 2t Afeen
Fgadt Fara foms st 7
(A) @ fafemm (B) =i sRET
(C) =ntEn senfa=mn (D) <@F @+
c¥dE 2013 F, fRe 2w A wfRea el
Hatf-1V et fame =1 awa s
o i
(A) ATA (B) wifrsTm
(€) = (D) S
79 & 90 wamE 3 T3 w9 fraa
§ 3ttt 2013 3 fu=r g1 2
(A) Hidlz d=1 (B) =T AT
(C) e gfas (D) T=E FI9E
el 2013 3 visd arffes =i Far Rl |
HAH WA T F e e Sl 7
(A) wit=m oo (B) AT Hilge,
(C) mam Atas (D) Hil teE

[PT.O.

81.

81.

e

83.

86.

HT‘



88. Who was the first Chairperson of National
Income Commitlee ?
(A) M Vishwesharaiya
(B) P C Mahalanobis
F D R Gadgil
(D) VKRV Rao

89. Which one of the following country as
the 147th member, has occupied WTO

currently 7
{A) Bhutan (B) Nepal
(C) Uganda (12} Bangladesh

9. Who was the hrst

Planning Commssion ?
{A) K T Shah

(B) K C Pant

4€) D R Gadgil

(D) T T Knshnamachan

vice-chairman of

91. Family Planning as a Government pro-
gramme at national level was first of all
accepted in India in the year
(A) 1951 (B) 1952

(C) 1956 (D) 1957

The word ‘Green Revolution” was used ﬁm{
time by

(A) Dr William. Gadid

(B) Dr Ramaswami

(C) Dr Lal Singh

(D) Dr H G Khurana

Who is the chief exporiens of liberalism ?
(A) Milton (B)AGettell
(C) J S Mill (D)) H Laski

Which country it
World Trade Otganisation (WTO) ?
(A) China (B) Sudan
(C) Japan (D) France

Which among the following is not a
member of SAARC (South Asian Associa-
tion of Regional Cooperation) 7
(A) Afghanistan

Myanmar (Burma)
(C) Maldives
(D) Bhutan

91.

93.

94.

5.
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96. While a resolution for the removal of the
Speaker of the Lok Sabha s under
consideration, the Speaker

1. will have right to speak
shall not preside
3. shall be entitled 10 vote only in the
first mstance
4. shall not be present in the House

(A) All of the above are tiue

(B) 1, 2 and 3 arc truc

(C) Only 1 is true

(D) 2 and 4 are lrue

Which of the following Arficles of Indian
Constitution put limitations on legislative
powers of Pﬂii:ﬂmcnt and State Legisla-
ures ?

(A) qu.ck: 13

(B) Amelg 245

(C),"Artiele 246

I[D_} All of the abave

98, "Ehl.
(A)
(B)
()
(1)

Which onc of the following qualifications 15

common 0 Presidential candidature i both

India and USA 7

(A) Citzenship

(B) Mimmum age

(C) Residential Requirement

(D) Eligibility for the membership ol the
popular house of the legislature

e

97.

system of Judicial Review is found
only in India

only in Britain

only in LISA

in both India and USA

99.

100. One common point of agreement between

Indian and US Federalism s thal

(A) residuary powers belong 1o the Cenire

(B) residuary powers belong to the States

(C) provision for concurrent junsdiction in
cerlain matters

(D) the Supreme Court is the arbiter in the

event of conflict between the Centre
and the Statcs



89.

90.

91,

22.

93.

95.

T W At & wow wege 5149 9 7
(A) =, Pt

(B) . . weEEfE

(C) @1 o, mefir

(D) 1. F. AW, 1.

ﬁmﬁf@nﬂﬁﬁw-m&ﬂmﬁﬁﬁmmﬁ
WET (T 2030 ) &1 14797 wgeq = 2 7
(A) TEH (B) 9T

(C) e (D) FTemey

AT ATATT T W9 ST A a7 ?

(A) %. &, ae (B) &, @1, 99

(C) =t s mefim (D) #. 4. swpnErt
LT 7 W AR A o ' 1 OiER
fratam =1 e 7 i = =it R w7
(A) 1951 (B) 1952

(C) 1956 (D) 1957

fw wif’ ﬁmmmfﬁﬂﬂﬂm
g1 'r'

(A) = fldan g (B) =, mnwﬁ
(C) =1. m fere (D) ::r.:ﬁwﬁfqv:m

FLWEATATE 1 H@l YotaT TN
(A) fireem By it
(C) 3. m. fm e \ (D) w=. wht

. Fawemr wngw ‘{‘éﬁi.ﬂm‘r,) 1 Hew

ot FT - R R

(A) S (B) T

(C) = (D) wH
Frerfirfim # # - B aféror i v
TEATT T (%4) =1 Hoe W @ v

(A) @A (B) HWR (I)
(C) wemE (D) "2H
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96. 9 TAlTEANT AAF F FEH F AEH

97.

98.

A 2,
1. IrEAE it A W SAfire g
2. 9% JSALET TE HT |
3. 9% Faw TEAl A% " 2R ow A
BRI |

4. 4 HgA ¥ Fufeaa 7# A

(A) I ot i #
(B) 1,23 397 2
(C) = | 7et 2 2
(D) 23k 4w &
W AT w1 W s da i
T forem sigat AT afiwat o st
Al 8,7
(A) dﬁi@!ﬁ? (B) IT=I2 245
© G246 (D) v wn
i Gafiar 6 st w2
(A) A W
(B) B w

99.

100,

(C) T wgw e st i

(D) ‘AT 3t waws =g st gl A

A s ' e aaRe G610 el

SHitear  fou feafafs & @ afa-d1 sda

T R 7

(A) Tt

(B) =TH AW

(C) Trama sden

(D) Treavrres & & e & qqear & fao
qEE

HReld SR FH 7 79 F {9 TR v

amT g e 2

(A) safie ulma &7 3 dafm o #

(B) safym ufiat wsa & daftm 2t &

(C) FB T # gRad aafawr & %
Q44 i ¢

(D) %7 X TAT F o= frae < fmafy #@
TEAH MY TR B R

[PTO.



PART — C : QUANTITATIVE APTITUDE

101. Rekha invested a sum of T 12000 at 5%
per annum compound interest.  She
received an amount of T 13230 after n

years. Find n.
(A) 28 years (B) 3-0 years
(C) 25 years (D) 2-0 years

The bar chart representing the number of first
year B. Com. students of St Xavier's College
using different companies’ smart phones. Study
bar chart and answer question nos. 102 to 105.

] Boys
e b~ "] Gints
L -
g E 130 :!:r':'
B = 120
2 Bpwl |
3 ml ,{ﬂm
s 2| o
s [ 4 A | B ,

Semseng Sony Nokla Onhees
Ixifferent Smart phone eompanies

The bar chart repeesenting the no, of studers
wsing diffcrent smant phones.

102. The ratio of the number of boys _towthe
number of girls using the smard phones of
Samsung and Sony together 8

(A) 12:13 (R) "18 ;12
©14:11 B A1 14

103. What percentagé of boys are using the
smart phonestof~Samsung ?
(A) 16:52%%\ (B) 17-52%
(C) 18838 (D) 15-52%

104.

105.

106.

| 07
|

108.

What percentage of girls are using the
smart phones of Nokia ?

(A) 33-58% (B) 32.58%
(C) 30-58% (D) 31-58%
The difference between the total number

of swdents using smart _phone of
Samsung combined together and the total
mumber of students using._ﬁhuri phone of
Sony taken together is

(A) 20 7760
(C) 80 N (D) 40
The radius/of, @ right circular conc is
3cm and\its.height is 4cm. The total
surface avea'of the cone ig

(Ad 48-4 sq.cm (B) 644 sq.cm

(G)_926-4 sq.cm (D) 754 sg.cm

A wooden box of dimension 8 metre =
7 metre # 6 metre is to carry rectangular
boxes of dimensions & cm * 7 em * 6 cm.
The maximum number of boxes that can
be camed mn 1 wooden box is

(A) 7500000 (B} 9800000
(C) 1200000 (D) 1000000
Iwo circular cylinders of equal volume

have their heights in the ratio 1:2: Ratio
of their radii 15 (lake 7= %)

(A) 1:4 (B) 1:4/2

(©) 2:1 (D) 1:2

SPACE FOR ROUGH WORK



HOAT -7 : AETHE afiyet

101. T& & 5% wféend % <wsrafy == 92 2 12000
1 Tfsr s it | ot & =me =8 T 13230
'ﬁlﬁluﬁmﬁl
(A) 28 94 (B) 3-0 ag
(C) 2:5 =d (D) 2:0 a4

aX 97 # w. Sfm wiaw % s owwm 3

A T F fEenfE ogo oww e s

T e sofmt & @d @9 1 den

g T # ) IR A W wemE 4t 3R wE

"GN 102 ® 105 W I 4 |

104. sifFm & @d w9 1w o T
it & ufasmen fha 2 2
(A) 33-58% (B] 32-589%%
(C) 30-58% (D) 31-58%

105, F7 fhamaw & a1 v wm w39y
art foenfiat 41 g9 den iR 39 femx
ﬁﬁ?&amﬁ'ﬁmmmmaﬁﬁmﬁaﬁ
1 FEm # o R
(A) 20
(C) 80

(B 60
()40

0 e 106. &9 T 4% i Froar 3 A, 2 el durd
i & e gﬁﬁ%lﬁm@ﬂmmﬁrﬁ
,'E }E = Jw /1ol (A)A8qmi 45 (B) 64-4 7 Fw
% ] 19 5 (€) 64 = wwit (D) 7549 nft
st D { LOTNI 8 Hizg » 7T 6 ¥1ex fom & wst &
Ren W o SN A SR x 7R, x 6 U fm d
T Wit i Ffir dafrad qEaR {2t F1 o Sy wEn R | et %
ﬁﬁ?ﬂﬂﬁﬁ’fﬁ”ﬁﬁﬁmﬁm ; W U afman fam st & om s s
£rtiwnwﬁmmm=nfl‘ \ 37
102. # of HiH F w0 B w] e s (A) 7500000 (B) 9800000
% AT T I g e ¢ (C) 1200000 (D) 1000000 |
(A) 12:13 (B) 13712 108, WTH I & o1 adw fafied 1 S
(C) 14: 11 ['D}“ 14 l-zwﬂglg.{ﬁﬁmqﬂm%
Iﬂi.ﬂﬁﬂ*ﬂlﬁlﬂi:iﬁﬁﬂﬂﬁﬂﬁm}ﬁ {'ﬂﬁﬁfjﬁn—“]%
=t o fogr e 2 _ s
(A) 16:52%.\ (B) 17:52% (A) 1:4 (B) 1:42
(€) 18%52% (D) 15-52% (C) +2:1 (D) 1:2
= AT ; tm';rr&#?%lqﬂﬁ v -
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109,

110.

111.

112,

113.

114.

A rectangular piece of paper of dimen-
sions 22 cm by 12 cm is rolled along its
length to form a cylinder The volume
(in cm’) of the cylinder so formed is

(use x=4L
(A) 562 (B) 412
(C) 462 (D) 362

A sphere 1s placed nside a right circular
cylinder so as to touch the top, base and
the lateral surface of the cvlinder. If the
radius of the sphere 15 R, the volume of
the cylinder is

(A) 2zR? (B) 4xr'

(C) 8aR’ (D) %2R’
If a=J6+/5 b=+/6-15

then 2a° —Sab+ 24 =

(A) 38 (B) 39

(C) 40 (D) 41

If P=+5

then 27p® ==L —-2p2 +1 p is equal to
GV (B) &

©) & (D) 3

If x+—==2, then x*" 4 111111_-4 =7
() 0 By

€ 1 (D) 2

If @ = 331, b=.336 and ¢ = 667, then
the value ofa + B + & = 3abe is

115. The simplified value of

116.

1L7s

118.

119.

(,,I,'E + 10 - 21 - ﬁ]{q"ﬁ -0+ —fr’ﬁ) 15

(A) 13 (B) 12

(C) 11 (D) 10

In a A ABC, "”‘—i=E, ZB=70° and

AC D¢

ZC=50°, then ZBAD="

(A) 60° (B) 20°

(C) 30° (D) 50

In a AABC, AD, BFamd CF are three

medians. The pcrimeter of A ABC s
always

(A) equal 10\(AD + BE +CF)

(B) tedtet than (4D + BE +CF)

£€)(less than (AD+BE+CF]

(B} None of these

In a A ARC, E, BE and CF are three
medians. Then the ratio

(AD+ BE 4 CF):(AB+AC+ H.':.*) 1%

(A) equal m% (B) less thunj:-

(C) greater than ¢ (D) equal to 4

Two circles with radi 25cm and 9 em
touch each other externally. The length of
the direct common tangent is

(A) 1 (B) 6 (A) 34 cm (B) 30 cm
(C) 3 BT (C) 36 em (D) 32 cm
SPACE FOR ROUGH WORK
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109.

110.

111.

112.

113.

T 22804, « 1294 fen ¥ e &
AATHIL 25hs &l AR w9 J wapd 3
T T R | TH AR s fafEe 31 s
(. &) ® (=2 51w 7%)

(A) 562 (B) 412
(C) 462 (D) 362
U w1 T o F smw o s S w

YR T a2 ge fofae & od, =
A 979 9 o1 794 F | e Fi fre g

# | fofee = smoew 2
(A) 2xR° (B) 4mr
(C) 3nR’ (D) SnR?

ufe a=+6+45 b=+6-+/5 & &
2a* —Sabh 1 2K =
(A) 38
(C) 40

(B) 39
(D) 41

£5
afe p=5 @ 27p* - L -2 p2 1 1 p frus
AL B 7
(A) £
(€) =

5
(B) =
1
(D) 5
1 .
ﬂfq' +o—_= 2013 _..l._. £
u X 2 2R My 304 .—~?

(A) O
(C) -1

(B)
() 2

115, (/6 4 Y10 - V21 - V53)(f6 - 70 + 31 - ¥33)

%1 HidiFT A #

(A) 13 (B) 12

© 1 (D) 10

= AR D
116. A ABC W et ZB=70° 4l

ZC=50° ) £BAD="

(A) 60° (B) 20°

(C) 30° (D) 50¢

117. A ABC ® AD, BE s CF ¥ wifegsr 2
A ABC 1 9Tt gt feeamn g 7

(A) (4D +BE#CF) %

(B) (Eﬁt-ﬁﬁﬁ;ﬁ] # whe
(C)A4D+BE+ CF) & T

(D) idw § & 1 =g

‘\18. A 4ABC, AD, BE iR CF o miftasr & |
l' dl (AD+E+[‘F)7(;IH+AC+BC) ]
{ 9T &

(A) 1% =
©) ;8 st (D) 1 F w=w

119. 25941, 3R 9 .. Frsw & 5t g7 = =y
T v TR F wef wd € | e et

(B) ; & =m

114. Af5 a = 331, b= 336 31K c =667 & ;
a3+b1+3—3ﬂh“iﬁimﬂ% o . g
@A) 1 (B) 6 (A) 34 . (B) 30 @i,
(€) 3 (D) 0 (C) 36 #.50. (D) 32 4.4,
- N foo == . . e
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120.

121.

122,

123.

124,

125.

If AB = 5 cm, AC = 12 and AB L AC
then the radius of the circumcircle of
A ABC 15
(A) 65 cm
() 5 cm

Ifo=g %% and scc*l | tan*d =7, then
8 is

(B) 6 cm
(D) 7 ecm

S .. n
A) —
(A) 75 Fadian (B) : radian
(©) % radian (D) % radian
The simplest value of
sin®x + 2 tan®x — 2 seclr + cosly 15
(A) 1 (B) 0
(C) -1 (D) 2

A kite is flying at a height of 50 metre.
I the length of string is 100 metre then
the inclination of string to the horizontal
ground in degree measure is
(A) 90 (B) 60
(C) 45 (D) 30

From the top of a light-house at a height

20 metres above sea-level, the apgle, of

depression of a ship is 30°. The distance
of the ship from the foot of the™light-

house is

(A) 20 m (B) zmﬁ m

(C) 30 m (0)*307/3 m

If x = a sinf) and W =% tanf then prove
at B |

that j—l—yi 13

LB 2 ©3 )4

Ihe following pie-chart shows the monthly
expenditure of a family on food, housc rent,

clothing, education,

fuel and mmscellaneous,

Study the pie-chart and answer question nos.

126 10 130,

126.
127.

128,

129.

130,

(€T T 5400

If the expenditure for ‘food 15 T 9000,
then the expendituresfor education is
(A) T 5000 {B) T 5200

(D) % 6000

The cenmwal, apgle of the scctor for the
expenditurévon fuel (in degrees) is

(A) (50w (B) 54

©) 576 (D) 72

If'the expenditure on fucl 1s T 3000, then
the total expenditure excluding expendi-
ture on house remt and education is

(A) T 11600 (B) = 12000
(C) T 12400 (D) T 12500
If the percentage of expenditure on food

18 x% of the total percentage of expendi-
ture on clothing, education and fuel, then
x equals

(A) 66 (B) 661
(C) 662 (D) 67
Total percentage of expenditure on house

rent, clothing and fuel is greater than the
percentage of expenditure on food by

(A) 16 (B) 17 (C) 18 (D) 20

o
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120. 78 AB=5 3. AC=1230R 4B L ACH
A ABC & witger &t firwm 2
(A) 6-5 4.4, (B) 6 #.91.
(CC) 5 &7 (D) 7 4.5,

121, af: nzaﬂse% 3R sec’0+ tant0 =78 =

o 2

(A) ':—: tfera (B) % e

(C) -’;%&m (D) % e
122. sinx + 2 tan’x — 2 sec® + cos®x T AT

qi4 2

(A) 1 (B) 0

(C) -1 (D) 2 |
123. W A 50 Hex Fir Fad w3z @ 2 | ol

SRt <t w1003t @ A 4w wfs w
el 1 st T fagit # w2
(A) 90 (B) 60
(C) 45 (D) 30

lhﬂﬂiﬂﬂﬁzﬂxﬁﬂmmﬁﬁm-mﬁ..

Fefafaa a9 # v wftawr &1 w9, qaE
frmn, am, firen, $aw st fafer @ =afay
? | w91 71 ammme Wt A% we wen 1269
1301 =% 2 |

Izﬁ_ﬂlﬁiﬂmmﬁtﬂmmﬁaﬁﬁmmﬁ

frm 2 7
(A) T 5000 B) T 5200
(C) = 5400 D) T 6000
127. fuﬂmﬁ% B 1 el wr (fait ) 2
(A) 504N\ (B) 54
(C) 576" (D) 72
128, 7ft 1% w = 23000 2 & TER
R T & 91 Frew 3w 2
TA) T 11600 (B) T 12000
(C) = 12400 (D) T 12500

129. 4l WS @ @ &1 whigman 4w, foar i

ﬂi&ﬁiﬁﬁﬁﬁmmmaﬂmw%l | : :
2 % @ S T wlavar o 0% o9
H‘razmﬁﬁ:mﬂm%w;@iﬁ e &
(A) 20 m (R) 20 1
i X
(©) 30 m (D) 3043 [ TR (L, 06;
o (C) 664 (D) 67
T “Txtﬂi"&my#'mﬂﬁﬂﬁaﬂ% 130. 7w fowman, a@ dR g ) ad A 3
SR LT st & 7
(A) 1 uig 2 ()3 D) (A) 16 (B) 17 (C) 18 (D) 20
& e | i 'l.'.;'ﬁFl'f-’i ﬂi_ﬁmﬁm 3t v
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131.

132,

133.

13‘1‘1-

"l,,lrﬁ'l'"l.llrlg
V24-45 -
—B) 3

(D) 5 ki

Evaluate

(A) 2
(€) 4

Three tankers contain 403 litres, 434 litres,
4635 litres of dicsel respectively. Then the
maximum capacity of a container that can
measure the dicscl of the three container
exact number of umes is

b

S

(A) 31 litres (B) 62 litres

(C) 41 litres (D) 84 hires

The wvaluc of

3--[[3-—5}4—{{4—1]+[2%T“j ]] I8

(A) 5 (B) 4

© # @)

If *‘+" means '+ %" means -t

i

-+ means ‘%" and ‘=" means ‘+', what
will be the value of the following expres-
sion i
9+3+4—-B%2m?

5 it

136.

137,

138.

{A) 30%

A can do % of work mn 28 days, B can

do ﬁ of the same work in 20 days. The
number of days they will take to complete
if they do it together is

(A) 155 days (B) 173 days

(C) 145 days (D) 132 days

Seventy-five men are employed o lay
down a railway line in 3 mofiths. Duc to
certain  emergency  condition$,, the work
was (o be finished in 18 days. How many
more men  should= he employed 10
complete the work in_the desired time ?

(A) 300 (B) 25
(©) 350 (D) 375

A traderwho marks his goods up to 50%
uﬂhted a discount of 20%. What % profit
the .trader makes after offering the

payment ?
(B) 70%

(C) 20% (D) 50%

— v | 139. A retailer buys a sewing machine at a
A 6y (B) 'f"-} discount of 15% and sells it for T 19355,
(©) -13 D) 18 | Thus he makes a profit of 15%. The
: G2 discount is
135. The next term of the sequenee, (A) T270 (B) T 290
: CY 300 D)y T310
(144 (+4)0+4), 0¥+ iy | © 2
IS 140. If x:y ::2:3 and 2:x :: 4:8 the value
{&{3 (B) {'l{-%} of » is
_ (A) 6 (B) 8
(©) 5 @) (1+1)1+4) (C) 4 (D) 12
SPACE FOR ROUGH WORK
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131.

132,

[24 + 46 - TR
V24 -f6

(A) 2
(C) 4

o Rl d wuw: 403 faew, 434 AR
465 f9ex 3o ® | a1 Uz F sl
T T gnit st ot ol % S
@t gof e & oW o 7

(A) 31 forex (B) 62 feex

(C) 41 ferex (D) 84 faex

(B) 3
(D) 5

136. 4 & Ff 1 28 Tt # o & €, B =a
wd F 2 A1 20 fEt F 9 owwa # ) 2

P <t fomt i o st £ 7
(A) 152 fim (B) 172 f&
(€) 144 fm (D) 135 fim

137. UF @-7rA @ 3 wEE ° fen & fau
TIER @i e feg N | R
gmare ety & s 9@ 0 @ 18 BAp 3
Tt st | anfen(Ema & Wl 4) o
F1 & fou feom sk it = Fifia

foFr s ez
133 3+[(8-35)+ [(4-2)+(2 + &)} = o 2 (A) 300 (B) 325
C) 350 D) 375
) 4 ®) 4 R A\
©) 1 (D) 1 138. U FMIOT S9H 7T 50% sl sifi
2 i FRAT R 20% F 77 T R | =R e 3
134. 3%+ W wEWE v, v wwgEg o, ahare fm o s wTe w7
W mEg xS - meme 4 oar | A NR) 30% (B) 70%
frfafam afireafs =1 7@ w0 g 7 ' (©) 20% (D) 50%
94+3+4-8x%2=" 139. UF Gaa SR T e S 15% FZ W
(A) 64 (B) 64 GiEw # W S8 T1955 % F=ar 2| w
(C) —I'} (D) 18 mqﬁiﬁ%mmmmﬁlﬁaﬁ
rfar
135, S9@7 f (A) =270 (B) Z290
(1+4). (14 1)1 +4), (f )T+ 1)1+ 1), () T 300 (D) %310
l qu @ @ 140 A x:y2:3aMR2:x - 482 Ay =
(A) 3 B) (1+%) it
| (A) 6 (B) 8
©) 5 M) (1+4)1+1) () 4 (D) 12
7 v TE w0 o e [ E: :
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141. T730 were divided among 4, B, C in | 146, In an cxamination 75% candidates passed
such a way that if 4 gets T3, then # gets in English and 60% passed in Mathe-
T4 and if B gets T3:50 then C gets T 3, matics. 25% failed in both and 240
The share of B exceeds that of C by passed the examination. Find the total
(A) T30 (B) T 40 number of candidates.
(C) T70 (D) T 210 (A) 492 (B) 300
142. A boy found that the average of 20 (C) 500 (D) 400
numbers is 35 when he writes a number
‘61" instead of '16°. The correct average 147, If 40% ,-,;.f 2 of 2 : of g m:mh::r is 48
at 20 1puisibers ), then ‘what is 1% of the, samit number ?
(A) 3275 (B) 37-25 (A) 20 (B).2
(C) 3475 (D) 34-25
(C) 10 (D) 1
143. 11 friends went to a hotel and decided to »
pay the bill amount equally. But 10 of | 148, A student"Bocs to school at the rate of
them could pay T 60 each, as a result 51 and S 4 :
l1th has to pay Z 50 cxtra than his share 7 kiyfhi\gnd reaches 6 minutes late. If
Find the amount paid by him. I’l& ‘travels at the speed of 3 km/hr, he
A 108 0 ,_rﬁaﬂm 10 minutes earlier. The distance
{C} : {E} <l A ‘ef the school is
x T 120 :
(€)% (D) ZNN\NA) 45 km (B) 20 km
144. A tea-merchant professes to sell tea at (C) 10.km (D) 4 km
cost price but uses a false u.e:gh; '
900 gram for a kilogram. The mﬁ 149. A train 50 metre long passes a platform
percent in his transaction is > 100 metre long in 10 scc. The speed of
(A) 1142 (B) 0% the train in km/hr is
Y\ \ A) 10 B) 54
(C) 94:% (DF F5ho il &)
| (C) 15 (1Y) 100
145. Mahesh earncd a profit of 20% by selling :
ﬁﬂ apples at fhe\rite of T42:50 for 150. A sum amounts double in 8 years by
S apples. Thtn the total cost, at which ?u'np]n mttm.srt- Then the rate of simple
the apples ugh'r bought is e
(A) TWs2 (B) T425 -| (A) 10% (B) 12:5%
(C) TW50 (D) T 485 (C) 15% (D) 20%
SPACE FOR ROUGH WORK
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141.

142.

143.

144.

145,

2730 A, B, C % =9 70 war famfm
a2 fraft ax zafomm E a1 i
z 4 fyed € ok afe a1 = 350 faer € A1
CH zifamma €| B 51w CH oy =
it & 7

(A) T30 (B) ®40

(C) 270 (D) T210

UF HEh A o@l TF HE 16 F T9F 9T 61
ferm w20 @t w1 sfea 3521 20
HETAT T WEl Alad w19 § 7

(A) 3275 (B) 37-25

(C) 3475 (D) 3425

11 fir o= #ew # Mo ok skt fam o
TSt = T &9 A A2l St =1 ol B
g o & 10901 F welw * 7 60 W

ot oty eey 11 F =afs = a9 sv @
T 50 AT FET A U | IS gRT I i

s T s
(A) T105 (R) T110
(C) T 115 (D) T 120

% SR WM W SEd e 9 AT 9

T Fan # g v fommm % fan 000

W & AT T T WA F B NI
i‘qﬁi%uﬁwﬁﬁlﬁﬂmﬁﬁmﬁ_?_

(A) 111% (B) 10%
(©) 919 ' (55
TR T42:50%F 5T F1 ¥ W 60 HT 9 7w

20% ¥ FATLE |4 & 160 gl qE W

G T R @

146.

147.

148.

149.

150.

U YT | 75% Tear, 3 8 A1 60%
IHilgaR e & Seif Bu | 25% At H
A WO uE 240 IRiigIR wEr o
FHl B0 | F SRR fean 4 7

(A) 492 (B) 300

(C) 500 (D) 400

afe fomft oem & 2 % 4w 40% 48 B A
I T T 1% TR 7

(A) 20 (By 2

(C) 10 MmN

uw foemdi 3 fon e afe wer & afa @
T # 3R € fwe frem @ adean @ ) af
4t 3 FRan. wia = & wfer & amn w2
at @10, e weat v s @ | = A
g fpat & 2

(&) 45 T4l (B) 20 fFah.

(C) 10 f&s, (D) 4 .41,

T 50 Hiew @l Wad 100 WiE T
T #1089, # et 8| et &
wierrer forl, & ofy et & 2

(A) 10 (B) 54

(C) 15 () 100

U T WHAY S 9K 8 TNl H g #
St B | wfered = o wx owmr 7

(A) T452 (B) T 425 () 10% (B) 12:5%
(C) 2450 (D) 485 (€) 15% (D) 20%
TF &Y F fau = X "
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PART - D : ENGLISH COMPREHENSION

Directions : In question nos. 151 1o 155, choose
the word opposite in meaning to the given word
and mark it m the Answer Sheet.

151. Frequent

(A) avid (B) less

(C) late J,m’ seldom
132. Dechines

(A) admits (B) accepts

(C) refuses ,.EEFT IMpProves
153. Juvenile '

(A) childish (B) experienced

(C) semior I[B‘j adolescent
154. Bonus

(A) drawback (B) penance

() punishmeni (DY fine
155. Eternal

(A) timeless }]}j change

(C) transient (D) ancient
Directions = In question nos. 156 to 160, Bour

alternatives arc given for the ldiamfﬂtm_-.t,
underlined in the sentence. Choosesthe altémative
which best expresses the meamg.ofithe Idiom/
Phrasc and mark it in the Answer Sheet.

136. Mina did something out‘of chamcter today;
she gave a beggar some money.
(A) did not act according o a scopt
‘{B-)’Iiu] dot behave in one’s usual nature
(C) acted beyond what was required
(D) behaved like a hypocrite

157. Peaple say that the banker is on his last
legs.
'ﬁﬁj’ on the verge of ruin
(B) on his deathbed
(C) at the end of his wits

() at the end of his journey

C- DI2014
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158. You cannot rely wpon a greenhomn like
James.

,m’} an inexperienced person
(B) a notorious fraud
(C) a boastful person
(D) a careless worker

159. When they called out his mame as the
winner of the grand prize, Jis\jaw dropped.
(A) he fainted

(B) he screamed injoy

(C) he was happy

',(«['31/ he was astomshed

160. A hole, Gnd) comer policy  is
welcomedtin a democratic socicty.

never

(A} gomupted BT secret
(C] frail (D) degraded
Directions : In question nos. 161 o 165, a

seplence/a part of the sentence is underlined,
Below are given alternatives to the underlined
part at (A), (B), (C) which may improve the
sentence. Choose the correct altermative. In case
no improvement 1s needed your answer is (D).
Mark your answer in the Answer Sheel

161. Many accidents at the factory are caused
of workers who do not read waming signs.

(A) is the cause of
(BY fan: caused by

(C) are caused because
(D) No improvement

162. The government seems to have no idea for

the welfare of the common man.

{A) no interest in {-B’I/ no account for
(C) no credibility in (D) No improvement

163. The world community has expressed critical
concermn over recent attacks on minorities,

(A) active concern (B) firm concem
(C) grave concern (D) No improvement



164. The wound on his hand is close now.
) is healing now (B) is repairing now
(C) 1s cleaning now (D) No improvement

165. Too much worry is not good for our health.
(A) 15 beneficial (B) 1s harmiul
(C) is hurtful _(BY No improvement

Directions : In question nos. 166 to 170, out of |

the four aliernatives, choose the onc which can
be substituted for the given words/sentences and
indicate it by blackening the approprate oval [em]
in the Answer Sheet.

166. A cluster of houses in a village

(A) Stack (B Hamlet

(C) Truss (D) Claque
167, Thoughtful and sad

{&ﬁ"u’;mtium {E} Pensive

(C) Tenacious (D) Scrupulous

168. A number of monkeys

(A Rookery (B) Troop

(C) Pride (D) Flight
169. Lasting for two years .

(A) Percnmal (BT Biennial

(C) Centennial (D) _Divanil

170. A speech in praise of
(A) An ode for (BY A tnibute for
(C) A eulogy for (P7 An accolade for

Directions : In.guéstion nos. 171 to 175, four
words are given 1 each question, out of which
only onc werd is correctly spelt Find the
correctly spelt word and mark your answer in
the Answer Sheet. '

171. {A) Flambovent (B) Flambayant
(C) Flemboyant 9 Flamboyant
172, (Ay Pneumonia (B) Pnewmonia

(C) Pnucmoma (D) Neumania

C DI2014
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173, £X) Granduer (B) Grendeur
(C) Grandeis (D) Grandeur
174. (A) Pecturesge EH}'"I’-mlmc:squc

(C) Picturecque (D) Pecturesque

175, (A) Aneasthesia
(CC) Anasthesia

(BB) Ancsthesia
1By Anaesthesia

Directions : In question nos. 176 to 185, vou
have two brief passages wilh \5 questions
following each passage. Kead “the passages
carefully and choose the( best answer to each
question out of the four altcrnatives and mark it
by blackening the appropriate oval [e] in the
Answer Sheet.

PASSAGE 1
(Question Nos. 176 to 180)

Opesof the man reasons of corruption in
elections today is the lure of power which haunts
| the politicians so much that they feel no qualms
of conscience in adopting any underhand method
to comc out successful. Corruption thrives in
elections because those in the field play on the
psychology of the electorate. The voters are
swavyed by the tall promises of the candidates 1o
whose machinations they fall un easy prey. They
are also susceptible to fall an casy prey to the
adulations of the politicians due to their illiteracy.
Besides anti-corruption laws arc honoured more
in their breach than in their observance.
Moreover, some constitucncies arc so big that it
becomes difficult to discover and check corrupt
practices.

176. The politicians indulge in corruption in
clections now-a-days bhecause

2 (&Y of the lure of power
(B) of the lure of money

(©)

elections can be won only by cormupt
means

(D) corrupt practices in elections go un-
noticed

[P.T.O.



177. How does corruption thrive in elections ?
(A) The people themselves are corrupt
(B) A sizeable part of the society is
cormupt
) The politicians exploit the electorate
2 psychologically
(D) The politicians cheat the electorate
economically

178. According to the writer, why do the voters
fall an casy prey to the machinations of the
politicians ?

(A) They want to sell their votes due to
poverty
They are illiterate and do not under-
stand what designs the politicians
have on them

(€) They are indifferent to what happens
on the political honzon

(D) They have no political knowledge

179. Why do the cormupt practices indulged in
during elections go unnoticed ?
(A) Because mnobody s  interested
discovering corrupt practices
(B} Because vested interests shield those
who indulge in corrupt practices
j{?j, Because the law enfording authOrities
themselves are in E-'I:l]hhlﬂn with the
politicians
(I3} Because the constifuencies are so big
that it becomed\ditficult to discover the
corrupl practices

in

180. What happens o the anti-corruption laws ?
(A) Theré 15 actually no such thing as
antiscormuption laws
(B) Anti-corruption laws are certainly
honoured but in a limited way

(C) The government does nol want to

force anti-cormuption laws
,IB'J}Annti-cunuplinn laws are honoured

more - their breach than in their
observance
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PASSAGE 11
(Question Nos. 181 10 185)

The modern man, who is given to endless
materalistic pursuite and competition, lives a fast
hife. Most of his time and encrgy are consumed
by the strenuous hours of work followed by
equally strenuous social anxiety and tension,
because a prolonged strike anywhere can lead to
scarcity of certain commodities off ch:iy use,
Given to multifarious stresses and strains. man
hardly gets any time to enjoy the ‘beauties of
nature,

181. The passage talks.about
(A) materialistic pursuits
(B) life of the.modern man
(C) work welated strain
_/I;Dfr man and nature

182. Social anxiety and tension refers to

(A) difficultics related
l‘l:iﬂiim:rﬁhips

(B) domestic violence
(C) social enmmty
(D) None of the above

0 mamigining

183. The meaning of “prolonged” is
W’Eﬂ]ﬂgﬁd
(C) expanded

(B) ncreased
(D)) enhanced

184. The anonym of scarcity
(AY Terocity
(C) abundance

(B) density
(L) hmited

185, Strike in the passage means
(A) to hit someone
(BY an agitation
(C) both (A) and (B)
(D) MNonc of the ahove



Directions : In question nos. 186 to 190, some
parts of the sentences have errors and some are
correct. Find out which part of a sentence has
an crror and blacken the oval [ee] comresponding
to the appropriate letter (A, B, C). If a sentence
15 [ree [rom error, blacken the oval corres-

ponding to (D) in the Answer Sheet.
186. I m not ﬂﬂ.ﬁﬂﬁﬂd “I"il,:h

(A)
vour explanation of where
(B)
you was last mght. No ermor.
Aex D)

I came into  the room when
(A) (1)
Mary played the piano. No error.

o (D)

1gg, Theman wasdriving herds of cattle.

187.

(A) AB) (€)
No error.
(D)
1go. Thereis some sheep in the field.
(4 (B) ©)_ N
Mo emor.
(1)
1vp, Playing  the drums anEI_
(A) (B)

singing are difficult. * No emor.
# E—

JE\ N (D) .
Directions : o\ question nos. 191 to 195,
sentences are\given with blanks 1o be filled in
with an appropriate word(s). Four altemnatives are
sugpested for each question. Choose the correct
alternative out of the four and indicate it by
blackening the appropriate oval [e] in the

Answer Sheet.

191. The police were people aside to
make way for the President’s car.
AAY shoving (B) poking

(C) nudging (D) shifting

C-DI 2014
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192, He scored very low marks in the exam

because of his knowledge of the
subject.

(AT outward (B} superficial

(C) thorough (D) decp

193. W B Yeats made scveral
mythology in his poems.
(A) allusions ) illusions

to Indian

(C) collusions (D) infusion
194, The board’s meeting has bgen® 1o
Saturday next. (Y
(A) differed (BT deferred
(C) deterred (D) dittered

195, Eight scientists\have the national
awards” for, outstanding contribution and
dedication o their profession.

(A) pieked (B) conferred
‘L{:{’Hggml (D) discovered

\ Directions : In question nos. 196 to 200, out of

ﬂ;e;"ﬁur alternatives, choose the one which best

expresses the meaning of the given word and
mark it in the Answer Sheet.

196. Devilish
(A) muschicvous (B) unnghtcous
(C) unholy (D)-sinful
197. Aromatic
(A) herbal (B) fAowery
"[ﬂ}"pungcm (1Y) fragrant
198. Morosc
(A) calm (B) disappointed
(& gloomy (D) furious
199, Denounce
{&F remove ‘ (B) accusc
() resign (D) arrest
200. Insolent
(A) dishonest {H]Jﬂpprcssive
(C) mde (.{'ﬂ"j misclievons
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